

Ex Solve $y'' + 2ty' - 4y = 1$, $y(0) = y'(0) = 0$

$$\mathcal{L}\{y''\} + 2\mathcal{L}\{ty'\} - 4\mathcal{L}\{y\} = \frac{1}{s}$$

$$\left[s^2 Y(s) - sy(0) - y'(0) \right] + \underbrace{2(-1) \frac{d}{ds} \mathcal{L}\{y'\} - 4 Y(s)}_{-2 \frac{d}{ds} (sY(s) - y(0))} = \frac{1}{s}$$

$$s^2 Y(s) - 2 \frac{d}{ds} (sY(s)) - 4 Y(s) = \frac{1}{s}$$

$$s^2 Y(s) - 2 Y(s) - 2s Y'(s) - 4 Y(s) = \frac{1}{s}$$

$$-2s Y'(s) + (s^2 - 6) Y(s) = \frac{1}{s}$$

$$Y'(s) - \frac{s^2 - 6}{2s} Y(s) = -\frac{1}{2s^2} \quad \star$$

↑ 1ST ORDER LINEAR. SOLUTION ON NEXT PAGE. (GOOD REVIEW!)

$$Y(s) = \frac{1}{s^3} + C \frac{e^{s^2/4}}{s^3}, \quad C \text{ IS CONSTANT.}$$

RECALL THAT TRANSFORMS MUST APPROACH ZERO AS $s \rightarrow \infty$.

THEREFORE, WE MUST HAVE $C = 0$.

$$Y(s) = \frac{1}{s^3} \Rightarrow y(t) = \frac{1}{2} t^2$$

★

$$Y' - \frac{s^2-6}{2s} Y = -\frac{1}{2s^2}$$

$$\begin{aligned} \mu(s) &= e^{\int -\frac{s^2-6}{2s} ds} = e^{\int (-\frac{s}{2} + \frac{3}{s}) ds} \\ &= e^{-\frac{s^2}{4} + 3 \ln s} \\ &= s^3 e^{-s^2/4} \end{aligned}$$

$$\mu(s) Y(s) = \int \mu(s) \left(-\frac{1}{2s^2}\right) ds$$

$$= \int -\frac{s}{2} e^{-s^2/4} ds \quad \begin{aligned} u &= -\frac{s^2}{4} \\ du &= -\frac{s}{2} ds \end{aligned}$$

$$\begin{aligned} &= \int e^u du = e^u + C \\ &= e^{-s^2/4} + C \end{aligned}$$

$$Y(s) = \frac{1}{\mu(s)} [e^{-s^2/4} + C]$$

$$Y(s) = \frac{1}{s^3} + \frac{C}{s^3 e^{-s^2/4}}$$

$$Y(s) = \frac{1}{s^3} + \frac{C e^{s^2/4}}{s^3}$$